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The annuity in which terms of annuity is fixed, is called :

(A) Ordinary annuity  (B) Annuitydue  (C) Annuity certain (D) Simple interest

A first degree equation is called :

{A) Linear (B) Non-linear (C) Quadratic (D) Simultaneous

The determinant of an identity matrix is :

(A) 0 ®) 1 (= D) 2

What percentage of 300 is 30 -

(A) 3% (B) 5% (C) 10% (Dy 15%

{ Tum Over)




03

LHE /3

5 | x:4::3:2thenvalueof x is :

A) 2 (B) 4 € 8 D) o
6 | Formula for simple interest is :

(A) Prt B) Pa+i)" ) PA-§) (D) SRi
7 | In the binary system S is :

(A) (100), (B) (110), ©) (1), (D) (101),
8 |Solve y—x =2andy~x=2 fory :

(A) 4 (B) 2 € 0 (D) -2
9 | Solution setof x> —4=0 is :

(A) {2} B) {-2} € {2,-2} D {4}
10 |If x+4=12 thenvalue of xis :

(A) B (B) 4 (C) 16 (D) 12
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SECTION -1
2. Write short answers to any SIX (6} questions : 12

(1) Define proportion.

(i) Reduce to its lowest form 60 - 180
(iii) Find 40% of 300.
(iv) Express 25% as a fraction.
(v) Find the simple interest on Rs.2000 for one year at 10%.
(vi) Define principal amount.

(vii) Define ordinary annuity,

(viii) Solve for x 5(x-3)=2(2x+4)
(ix) Solve for x 4x-7-2x+1

3. Write short answers to any SIX (6) questions : 12

(1) Explain quadratic equation.
(i) Write the formula of quadratic equation.

(i) Solve x+y=40, x=y=15

(iv) Define consistent system of equation.

(v) Define variable and constant,
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3. (vi) Define number system used in computer.

(vil) Convert (35);0 in binary system.
43
(viii) If A:L‘ J,ﬁnd e

. ; 3 2 1
(ix) f A= , find 4
14

SECTION - 11
Note : Attempt any TWO questions.
4. (a) If the stay of 10 persons for 14 days in a hote!l costs Rs.10,000, rind the cost of stay of
6 persons for 7 days¥

(b) Find the compound interest if 50,000 loaned for 6 years (@ 12% per annum.

5. (a) Solve 8xZ—14x-15=0 by using quadratic formula.
gq

, Ix+2y=54 L.
(b) Solve by elimination method.
2x-3y=10
Ix+y=5 )
6. (a) Solve by using Crammer’s rule.
6x—-y=7
(b) Simplify : {(100111); +(10101),}~(10111),
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